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General Instructions :
1. The gquestion paper comprises of twe Sections, A and B. You are to attempt both the

sections.

. All questions are compulsory
All questions of Section-A and all questions of Section-B are to be altempted separately.

2
3.
4. Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in

one word or in one sentence
5. Question numbers 4 to 6 In Sections-A are lwo marks (uestions. These are o be answered

in about 30 words each.
Question numbers 7 to 18 in Section-A are three marks questions. These are to be

answercd in about 50 words cach
Question munbers 19 t 24 in Section-A ure five marks questions. These are to be

answered in aboul 70 words each.
- Question numbers 25 to 33 in Section-B are multiple choice queslions based on practical
skills. FEach question is a one mark question. You are to select one most appropriate

response out of the four provided to you.
Question numbers 34 to 36 in Section-B are questions based on practical skills. Fach

0.

question is of two marks.
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MM-37 / SECTION-A

1 LA 3 ] W !
Draw the structure of butanone molecule. . )
2 W 35 T R s = 2wl A w A e me dfem fEm = e 1
Whicly trait will be observed by he oftspring when it recerves bwo copies of traits 7 '
3 FITet 3 TATTIR i et F FAE T Fw = 7
Why are coal and petroleun called carth resources 7 ;
4 e 7= &7 g wmm fufay
What is presbyopia 7 State its cause.
5 WA F a3 =9 9 9] a1 foramy A7 @ P 2 2
Explain why there should be equitable distribution of resources ? :

b EER W ¢ O S v s T e afen G w81 e an 27 e
T BT T i ] e 2
Itis said that, there is a need to put a complete ban on the products containing aerosols, What
are acrosals 2 Why is there a demand to put a ban on them ?

7 A s w1 dafem wedlaam fafus e Tl W FE e e g uferis @ 27 3
T TR AEE = A T STAEIERE w5 A ufh
Give the balanced equation of the reaction in vhich alcohal 15 converted to carboxylic aad.
Why is it called oxidation reaction ? What is the rale ot osadizing apgents init ?

8 () e w90 A s o g i s Al i fafan 3
(W} = % forg Hafem wmfe mien fetfemm.

) -#FEway Tz g TSIE T TP W e

(1) _ Name the arganic acid present in vinegar Write its chemical formula,
(i) _J Write the balanced chemical equation for burning of |

p ,-:,fr (1) Methane in air (i) Ethanol inair
5 LG, AR a MrEem FYH, TSF & o FewheA o g Fa TeElag s 3
B A |

Explain the formation of covalent bond by electron dot structure for Hydrogen, oxygen,
nitrogen molecules, ' -

10 (@) et anad % f 99 ael & my foafuu 3
(b)  WF a1 w1 el T fafau ) o6 st - T8 0 W fafon ity 298 4 fai

UH 7 0 ¥t fr=mn fafu
{27 Write the name of any three elements present in thind period.

) What will be the total numbher of shells in each element and
: . ; : { ne the valence <h
each. Write configuration of any of these elements “nce shell of

1 HIST 51 Siled 72 9% gy searty UFE % T w99 5 82 3
Eggs in females are not same as the sperms produced in males Why ?

2 - a - - -y - = :

i mwwmﬁmmumﬂm%?maﬁmwﬁﬁaﬁﬁﬁfmﬁa
FEEN AT T T figer & o
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What do yvou urnderstami |y

nateral sebeschion and fenetic draft

Comd ihon the VAT gains survival o -hh'.inl‘..ip.:-
e

I FIT 2 A A wan e . .

- TS W e g 0

e n LRSI 7L B e SRR S 2 afz mATT Ty 3

995 mrevn faw g

Hima Jim= the bread v

14 !-'."11*‘..1}"1.‘\ v e P
L TE 15 rind e Traw
reproduction How s R]‘l;:.!pu'- benetitred l‘i'rrl:u.‘ ‘

na = L & L
{a) SR S 1) 0 TR SO ST fam v w547 9

T it §4°
(1) ii'_'!_:"'r"{ pecp a4 g

(LB e e £ Ol A [PV S W FE o e fafa

fa) How would vou relate

(g} Hln."ir}' fl\ﬁlr_tn

(1) Spore formation

"'I_ State any on.e -!LI'L‘:I]'!!.'IP':F' il HSNE sovy
T A W Ferm frats o= e F
batd fom wan yoarm 31wt 3 wau T T E o

All dead orgamisme do not beave therr fossil rvonds, but in some cases therr fossils are formed.,

How do these fossg] rivcords §
(a) TIF IR M oa wn |

T Out of these in which

the structure involved n

prosfuces by this method

the following methads to asexual reproduction 7

vrm a direct evidence of past happenings ?

afem 3

() T W AT F = v W e w et g

TR VAT #7307 w9y A @ ft e 4

al reprocluction over asexual reproduction,

T § T = A w §) A a3

(11)
() =TI A e f::-'—-r:.ﬁ.a'ffvmﬁnﬂﬂmwmgﬁﬁmﬁ@\ﬁmﬁ?ﬁ?ﬁﬂﬁf?
{a) Meame the part of eye that

(1) Controls the amount of light entering into eye

(1) Repulates the size of the passage throu gh which light enters

(b
>

wiafam a9 ¢ &5 51 T 0
A 5 om tall obpect s

211w wifamy

placed  on the  principal  avis

of a convex

Why are we not able to see immead ately after we enter a dark hall from a lighted place

fowit 39@ ofa & wass w2 5 om 550 =0 arq wi §1 T 10 em TG T 2em S 3

lens, Its

2 em tall image s formed on the screen placed at a distance of 10 emfrom the lens. Calculate

the foval length of the lens

whee dn w gE SEEF 31 7w dfE o foel un wie o v a g o) 3
momd aw fewEel ®1 @3 am R T AT wuarTE A ferwe e i el sw
v faedl 3w fe ww famm w9 e R e wew S e @ fow ow gm ®

1% 7 &
(@)
(b)
(c)
(d)
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Monika was observing a lizard on the wall which chased an insect and ate il. She felt
1.!1:1[ the lizard was cruel and ugly. Suddenly the lizard fell off and was eaten by a cat,
She started thinking how organisms are connected Lo each other for their food.

() Whalt is a food chain ? Will the world be a better place without lizards ?

(b}  Make a food chain of five organisms.

(c) )¢ you think that a lizard is cruel and ugly ?

(d) To  which  Gophic  level of the food chain  does lizard
belong ?
", o A wrd i et g ) ?

(@) I A A A wd sl e W sdem wew o 1 waft § wiad @ fatagn o
T T wRW uiEE 1% Fifaw )
®)  NSCFH A Fmm wmm s faam wom am ol w7

* "Elements towards the right of every period are non-moetals.”

(E.l} , Conu:_mnt upon the pradation of tendency of pain electrons as we move from left to
right in a period. Justify the answoer with reason.
(b Qut of N and E which atom do yon think svill be more electromegative and why ?

1 94F TR S 12t F W 4 ammr a1 s ey ST W1 WE O syt 5
Describe in brief the independent inheritance of two separate traits like shape and colour of
seeds of a pea plant. )

B fus o1 avepr @0 sie =7 el & A fafan ) fi ward gt & o fag = I T 5
T framgt

(@)
(b)  WHEMEH % W e
(c) WIS & T e
(d) R S E S el A
(@  H v Y A= =g fa e @ o e g w22
(i)  Study the diflgTam and identify the parts which performs following, functions and
mark them on the diagram by redrawing it ;
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{a) The site of fertilization,
(b)  Siteaf entry of sperms.

{c) Site of implantation of the zygote.
) (d) ~ Tube that connects the mother and (he fetus.
(i) What is the period for development of child inside the mother's body?

{a) FEA A9 & frm ferfam
fFaamaiwms

T HIT F A A S W F o aqom A S

(b) €1 T wvdaiE 240 3 H FHT T AT €2 Afs avy H w4 0k 108ms~1 9

A &Y mm 3 30 i

J:fa} Write the laws of refraction of light What is the ratio of the sine of the angle of
incidence to the sine of the g ngle of refraction commonly known as ? -

(b) What s meant by  slatement that refractive index of diamond  is

3

242?71 the velocity of light in air is 3 x 10° e - 1, find velocity of light in diamond ?

(@) W it vt TeEd o v BT S WiEza W Tt e wen fem s

LET

(b) 72 7 38 WA 1 == fone ey 2

(a) With the help of a ray diagram explain how the recombination of the spectrum of

white light can be done.

{b) State the inference drawn by Newton from this experiment ?

(@) Som S fae e s
1 wfafam #1 5= W wifam

(b) 1 289 ¥ g9m 2 §
T Al v e

N F W 1 ¥ o fam s amd o2 U E S

TR W T T e ey 9 g

{c) ﬁmﬁiﬁmﬁiﬂﬁmmf‘maﬁmaﬁmﬂaﬁﬂﬁmﬁf@|

——
—_— I

(d) mﬁm%mmaﬂﬁmﬁmvﬁfiﬁgwmmaﬁmﬁmﬁ%?
{e) w@mmmwwﬁhmaﬁéﬁmmﬁa@nmﬁaﬁﬁﬁ%aﬁmcm

o &1 ¥4 7 & WHR =1 9 fafa)
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An uhect 5 cm high is placed in front of a concave mirror for w hich linear

a
Enzlfmﬁmtmn is 2. I'ind the height of image formed by the marror,

(b)  Why does a ray of light passing through the centre of curvature of 4 concave mirmor is
reflected back along, thie same
path after reflection ?

{c} Draw reflected ray and wrile the angle of reflection.

()  What happens when a ray of light strikes the surface of separation between the two

media at right angle ?
(e} Incidemt ray AB falls on a lens shown by a straight hine 'O

shown in figu rc:.P'l.“u’rlte the name of the kind of lens,

C-

The refracted rav BC 1s

A B

. W,

Q
HIA-T/STCTION - B

mwmaﬂvﬁmﬁmmmmwrﬁ 1 Wt
(a) = aw Eifem wrEEiETEe
(b) W€ A= e TS e
(c) O AE WIS B EEEET
(d) W@ ga Wy T
[dentify the substances used for the preparation of hard soap
(a)  fatand sodium hydrovide
(b)  fatand potassivm hvdroxide

(e~ water and sodium hydroxide
(B~ water and polassium hydroxide

T AT 3 T fF S sfutea ¥ 2nm el wmd o F v e i am s ¥
TR & WY TA T TCWEA S99 TE X 8 HEa R
(a) Tz Wz b)  FEEH At
(c)  ezdiERE & (d)  wieum wegisns
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hl I s il Tk e may L ' L L TV LI (T ugllf‘pﬂ'l [1' l"""l“" A iﬂ
il “i‘l l’ Wi n ' T
i F l“ el fll'!tlll LA 'I-l'l', .
h h % I'ill' 'l- l'i W HI' ’I " II ‘"I =l e h :"'I l' - |
l“‘lll'1|"|Il raly ' L L e T (33 ila LRLE A T L

::‘!:l “macbiiinn o bligagds ™ Kiliban-meti
" ¥ ::I::Hn ST iily “wrlivinn byileermile

' YA Termn @ vl &, epgeggey R TR
(a1 wpam e, 67 el 'ml N )

Fll.ll MW g v iy =mongn g omm by
WAnk spol on ot shippwd an soap walution in Wl water

h] dll-ﬂ!‘rp.- 1%
i “'I h =
{l]a ‘ IMrH.:l_I}'il_haI'ln-un H: :l::l:d,:':ﬁnﬁrﬂ
SRERUL R AL LIRS R ST [t iy oot il ¢ 1

= ’
T
y R
==
}.-_e_-._-_r""_:z‘f-_—-—'—’"

4
¥ A 1"; ¥ fomag f’-’{:IiL-TﬂIT A if#: :
(@) X v i R A Rl g ger) gt
(b}l x zam avm b am =i o T wrEm A 8y
() gﬁm*rmmtmqﬂurmﬁﬁmqﬁh
() 7w X s b @ oam AN ‘o TRl wEe fam By
In the following diagram a methex! of l}l"lﬂmm.iﬁz focal length of a device * X is shown -

T Re—

< d —

:-'mm this diagram it may be concluded that the :

a)  device X" is a plane: mirror and distance *d’ is its focal length,

) dw_irr .4 15 a wonvex mirror and distance ‘d” is its focal length

(c) dev‘:re 'JX 1 @ concave mirror and distance ‘d’ is its focal length

{d)  device "X’ is a concave mirror and distance “d” is its radius of curvature.

*Imtmim,B.Camnﬁmmmmmmnmﬂﬂﬁm{&mmﬂm 1

v fam
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. = & g0 11 witn Fam qom 1w L HIU S TR -
g R ) e Tiet RELIEE

. A Y e 3

A v 8} M Enl

UERUEBUELD

-, = L 3 Sy 3 o
; ; A AT #) 13
W feea ein e o) Tas o il it facet oo v wes 999 ;
18
L ]
R R L

et Aot ) g

A 4 4 firr %) ELE R il 7 vAA G A} g ) g ]

s

gl e ] e N e L A B |
N N R CEUCIG L AN EE T ¥ [ w2 99 L LA

[ ]
ey 0 o

W] 0 A T audeet O a1 4 g d) Fada 0é ¥

1) I

@ Ao (1) ¢ (¢

Four stwdent A1 ¢ amd DY didd thely expeplment ob tinuling the focal lr*nﬁ”l of ""_"m"'” lens by
obtaining the Imape nl a histant obyject as

il‘“l"'“'l

Stwdent A used the window il in the laloratory as the object amd a white paper sheet held
i haad an the soreen ]
Stunlent Wisend a distant troe in the shade a5 the objectand a white thick board held in a stand
as thwe sepeen

Student U wsed a well aminaled laboralory window gelll as the olject and a white paper
sheet Belud ina ataned as e screen

Student 1Y used a well illuminated distant tree an the object and a white thick baard held in a ,]
stand as the sereen

\\'}hirll 1.;:'!!" of the above set-ups represents the correct method for performing, the experiment ?
{a : (1) I

() &y () n

ul s i N yls aad B @ sreada wo w a 1
(4)  wm 1
() wdm

(c) WAHA @)
() A v g ey

I you Increase the angle of incldence, the value of angle of refraction ;
(al”  Decreases .
(b) Intreases

{c} Remains same

(d) There lsno relation between the two angles

foull afa % favnan vam Q0 wama @) fomm @1 yn anfaa w131 % gim 4§
i A v o, fed o 3 iy 4
(A)  wei ed mu s 4 fovrfa feore Toeft snfier
(B)  myfaq @ 300 @ @ ¢l én nfisy
Q) fda & wa v @ fog amifaa famom gy 3faa LR R e

} . ) l | ; ) nﬂ-
(D) < st A lafsdar ) fiufa ) 2 wnifeg . -
EIRCR Cigirea ki T S
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@A) ) (R

ia E:.EH (€) & (M

g sl doing the experiment of tracing the path of ray of b 1 s Pri
wstudert e s 2 the path of ray of light through a triangular glass prism
{g*} Pesition of prism should be fixed while doing experiment.
(B) angle of incidence should not by less than 30°,
() two pins taker as object should be placed on incidenl ray at proper distance
from each other.
(D) locate the position of image keeping both eyes open.
One of the precautions is not appropriate. Itis :

(@ (A) (b)y (B
© d (@
2 fmfmai . 1

(@) srgger
(@  amafre sin (d) waEgm
The figure below demonstrates -

(a) adaptation (b)  homology
()  vestigial argans (d)  analopy

a3 yoft 18 W sieraaralis 1 & sifersy 3 o - 1
@ WiE ®) ¥
{c) it (d) LAl
The region of epicotyl on the embryonic axis will give rise to future :
(a)  shoot (b)  root
(c) leaf _ (d)  embryo

34 TN H Syere Qi o % ol ¥ s ¥ fae o S e faferd o 2
Write two precautions to be taken while studying the properties of acetic acid available in the
laboratory.

3B QR G WIS W R B & TR O oR A e s ¥ R W) falu = wmfy 2
formn 1 59 fored 9 wda ¥ o o} T Fadierr fean € 2
A student confirmed binary fission process in a unicellular organism after observing a slide
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uniler wsiape What he gl Do vibieaenvendd o it slishss G pean by i e soiu Taion #
9 RO e e A s 350 W Ty 1A A8 o alalaatedeorsudin

(@) sttt Ol s E g |

L3 I K G R L TSR AT R T Iy

by an experiment vt image forauation of an obfect when placed betwess foous aned opies!
CRtTe 10 Lot ol aconvies leys

() draw a ray diagaam ton moage foriatiog
(b)Y wnte the natwre of the insage fonmned

LTINS
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